

## 2016 Rubbabu Consumer OrderForm

email FIRE THE IMAGINATION: firetheimagination@sympatico.ca web: www.firetheimagination.ca

Billing Address		Shipping Add	ress			
Name		Name				
Address		Address				
City Postal		City		Postal		
Item Description		Retail	Code	Qty	Total	
<b>FUZZI FRIENDS - FARM AND WILD ANIMALS</b>	5					
FARM ANIMAL ASSORTMENT (6 pcs) \$7.00 ea.		\$42.00	20199			
WILD ANIMAL ASSORTMENT (6 pcs) \$7.00 ea.		\$42.00	20246			
BEAR		\$7.00	20212			
BUNNY		\$7.00	20205			
CAT		\$7.00	20201			
cow		\$7.00	20203			
DOG		\$7.00	20202			
ELEPHANT		\$7.00	20207			
НІРРО		\$7.00	20208			
HORSE		\$7.00	20204			
LION		\$7.00	20206			
MONKEY		\$7.00	20210			
PIG		\$7.00	20209			
RHINO		\$7.00	20200			
FABRIC ANIMALS						
DUCK		\$7.50	20812			
GIRAFFE		\$7.50	20814			
RABBIT		\$7.50	20818			
SNAKE		\$7.50	20820			
TORTOISE		\$7.50	20882			
BIG ANIMALS ON WHEELS						
DINOSAUR		\$20.00	20131			
ELEPHANT		\$20.00	20129			
GIRAFFE		\$20.00	20130			
MONKEY		\$20.00	20132			
ANIWHEELIES ASSORTMENT						
ANIWHEELIES ASSTORTMENT - POLYBAG (8 pcs) \$11.00	ea.	\$88.00	20128R			
ANIWHEELIES ASSTORTMENT - TRAY (8 pcs) \$11.00 ea.		\$88.00	20128			



All Orders To: **Fire the Imagination** tel: 888-780-0864 fax: 519-780-5469

email: firetheimagination@sympatico.ca

Item Description	Retail	Code	Qty	Total
2.5" BALLS				
3 SMALL SPORTS BALLS - BOX	\$11.00	20190BOX		
3 SMALL SPORTS BALLS - NET	\$11.00	20190NET		
3 SMALL SPORTS BALLS - POLYBAG	\$11.00	20190POL		
3 SMALL STRESS BALLS - BOX	\$11.00	20249BOX		
3 SMALL STRESS BALLS - NET	\$11.00	20249NET		
3 SMALL STRESS BALLS - POLYBAG	\$11.00	20249POL		
4" BALLS - ORDER BY STYLE			_	
BUBBLE BALL - BOX	\$12.00	20066GBOX		
BUBBLE BALL - POLYBAG	\$10.00	20066GPOL		
BUBBLE BALL - TRAY (6 pcs) \$10.00 ea.	\$60.00	20066GTRAY		
BUMPY BALL - BOX	\$12.00	20067PBOX		
BUMPY BALL - POLYBAG	\$10.00	20067PPOL		
BUMPY BALL - TRAY (6 pcs) \$10.00 ea.	\$60.00	20067PTRAY		
CRATER BALL - BOX	\$12.00	20068RBOX		
CRATER BALL - POLYBAG	\$10.00	20068RPOL		
CRATER BALL - TRAY (6 pcs) \$10.00 ea.	\$60.00	20068RTRAY		_
GOLF BALL - BOX	\$12.00	20062BBOX		_
GOLF BALL - POLYBAG	\$10.00	20062BPOL		
GOLF BALL - TRAY (6 pcs) \$10.00 ea.	\$60.00	20062BTRAY		
NAVEL MINE BALL - BOX	\$12.00	20065OBOX		
NAVAL MINE BALL - POLYBAG	\$10.00	20065RPOL		
NAVEL MINE BALL - TRAY (6 pcs) \$10.00 ea.	\$60.00	20065OTRAY		
TORPEDO BALL - BOX	\$12.00	20071TBOX		
TORPEDO BALL - POLYBAG	\$10.00	20071TPOL		
TORPEDO BALL - TRAY (6 pcs) \$10.00 ea.	\$60.00	20071TTRAY		
4" BALLS ASSORTMENT				
EDUCATIONAL BALL ASST TRAY (6 pcs) \$10.00 ea.	\$60.00	20313		
SPORTS BALL ASST TRAY (6 pcs) \$10.00 ea.	\$60.00	20311		
STANDARD BALL ASST. REFILL - POLYBAG (6 pcs) \$10.00 ea.	\$60.00	20192R		
STANDARD BALL ASST TRAY (6 pcs) \$10.00 ea.	\$60.00	20192		
WHACKY BALL ASST. REFILL - POLYBAG (6pcs) \$10.00 ea.	\$60.00	20314R		_
WHACKY BALL ASST TRAY (6 pcs) \$10.00 ea.	\$60.00	20314		
VEHICLE ASSORTMENT			_	
MICRO VEHICLE ASST. REFILL - POLYBAG (8 pcs) \$11.00 ea.	\$88.00	20126R		
MICRO VEHICLE ASST TRAY (8 pcs) \$11.00 ea.	\$88.00	20126		



All Orders To: **Fire the Imagination** tel: 888-780-0864 fax: 519-780-5469

email: firetheimagination@sympatico.ca

Item Description VEHICLE ASSORTMENT continued	Retail	Code	Qty	Total
LITTLE VEHICLE ASST. A REFILL - POLYBAG (8 pcs) \$11.00 ea.	\$88.00	20318R		
LITTLE VEHICLE ASST. A - TRAY (8 pcs) \$11.00 ea.	\$88.00	20318		
LITTLE VEHICLE ASST. B REFILL - POLYBAG (8 pcs) \$11.00 ea.	\$88.00	20319R		
LITTLE VEHICLE ASST. B - TRAY (8 pcs) \$11.00 ea.	\$88.00	20319		
SPORTS AND GAMES				
BAT AND BALL	\$30.00	20248		
BOWLING SET	\$35.00	20074		
HORSESHOE SET	\$40.00	20124		
RING TOSS	\$40.00	20076		
SWORD and SHIELD	\$55.00	20267		
TIC TAC TOE	\$28.00	20187		
TOOL SET (4 pcs with Caddy)	\$30.00	20191		
TOOL SET (5 pcs with Apron)	\$35.00	20255		
WEIGHT and DUMBBELL SET	\$35.00	20216		
THE LITTLES - CHARACTERS				
THE LITTLES - ANIMALS ASSORTMENT	\$3.00	20329		
THE LITTLES - PEOPLE ASSORTMENT	\$3.00	20326		
VEHICLES - CARS AND TRUCKS (Individually Boxed)				
BULLY the BULLDOZER	\$35.00	20016		
CHOO CHOO TRAIN RED	\$28.00	20005R		
CLEANUPPER the DUMP TRUCK BLUE	\$35.00	20011B		
CLEANUPPER the DUMP TRUCK RED	\$35.00	20011R		
FIREMAN RUBBA ENGINE	\$35.00	20009		
MODENA the RACE CAR	\$28.00	20023R		
MONSTER CAR BLUE	\$35.00	20169B		
MONSTER CAR GREEN	\$35.00	20169G		
Nitro the MONSTER TRUCK	\$35.00	20168R		
RUBBABU CAR BLUE	\$28.00	20017B		
RUBBABU CAR RED	\$28.00	20017R		
RUBBABU CAR PINK	\$28.00	20017P		
SHAPE SORTER BUS	\$35.00	20273G		
WHOLED OUT CAR GREEN	\$28.00	20019G		
WHOLED OUT CAR TURQUOISE	\$28.00	20019T		
GRAB EM MASCOT CARS			_	
MASCOT CAR GRAB EMS ASSORTMENT (6 pcs) \$17.00 ea.	\$102.00	20189A		
MASCOT CAR GRAB EM BLUE	\$17.00	20189B		



All Orders To: **Fire the Imagination** tel: 888-780-0864 fax: 519-780-5469

email: firetheimagination@sympatico.ca

Magagae .		3		, ,
Item Description	Retail	Code	Qty	Total
GRAB EM MASCOT CARS continued			, ,	
MASCOT CAR GRAB EM GREEN	\$17.00	20189G		
MASCOT CAR GRAB EM PINK	\$17.00	20189P		
MASCOT CAR GRAB EM RED	\$17.00	20189R		
MASCOT CAR GRAB EM TURQUOISE	\$17.00	20189T		
PLANES AND HELICOPTERS (Individually Boxed)				
CHARLES THE AIRPLANE PINK	\$35.00	20013P		
HELICOPTER BLUE	\$35.00	20289B		
HELICOPTER GREEN	\$35.00	20289G		
PROPELLER AIRPLANE GREEN	\$35.00	20264G		
TRAINS AND TRAIN SETS				
BIG RUBBABU TRAIN	\$95.00	20306		
CHOO CHOO TRAIN BLUE - BOX	\$28.00	20005B		
CHOO CHOO TRAIN GREEN - BOX	\$28.00	20005G		
CHOO CHOO TRAIN RED - BOX	\$28.00	20005R		
LITTLE TRAIN SET with MAT - BOX	\$45.00	20305		
BUILDING TOYS - RUBBABLOX				
RUBBABLOX BASIX FLAT BLOCKS	\$45.00	20286		
RUBBABLOX BUILDING BLOCKS	\$70.00	20285		
RUBBABLOX JUST TRIANGLES	\$35.00	20263		
RUBBABLOX TRUCK SET	\$45.00	20153		
SHAPE SORTERS				
ANIMAL SHAPE SORTER	\$45.00	20078		
FRUITS SHAPE SORTER	\$30.00	20155		
GEOMETRICAL SHAPE SORTER	\$45.00	20077		
VEGETABLES SHAPE SORTER	\$30.00	20156		
LETTERS AND NUMBERS				
ALPHABET MAGNETIC 4"	\$90.00	20096		
ALPHABET SET LOWER CASE 2.5"	\$40.00	20102		
ALPHABET SET UPPER CASE 2.5"	\$40.00	20100		
BRAILLE ALPHABET TILE	\$45.00	20350		
NUMERALS MAGNETIC 4"	\$35.00	20104		

 $<sup>\</sup>ensuremath{^{\star}}\xspace Pricing$  and availability subject to change at any time without notice.

<sup>\*</sup>Product will be billed at rate current to date of shipping.